江苏省溧阳中学2003－2004学年第一学期高三英语第一次阶段性测试
试   卷
第一卷（三部分，共115分）
第一部分：听力（共两节，满分30分）
第一节（共5小题；每小题1.5分，满分7.5分）


听下面5段对话。每段对话后有一个小题，从题中所给的A、B、C三个选项中选出最佳选项，并标在试卷的相应位置。听完每段对话后，你都有10秒钟的时间来回答有关小题和阅读下一小题。每段对话仅读一遍。

1. What does the woman want to do?

A. She wants to have a big dinner.    B. She wants to try something new.

C. She wants to stay at home.

2. Who works the hardest?

A. The first speaker.       B. Jane.         C. Anne.

3. When does the film end?

A. 9:05.                 B. 8:30.         C. 9:30.

4. Where does the man want to go?

A. The station.            B. London.      C. The platform.

5. What does the man like?

A. Coffee without milk.     B. Coffee without sugar.      C. Black coffee.

第二节（共15小题；每小题1.5分，满分22.5分）

听下面5段对话或独白。每段对话或独白后有几个小题，从题中所给的A、B、C三个选项中选出最佳选项，并标在试卷的相应位置。听每段对话或独白前，你将有时间来阅读各个小题，每小题5秒钟；听完后，各小题将给出5秒钟的作答时间。每段对话或独白读两遍。

听第6段材料，回答第6至7题。

6. What are they doing?

A. They are watching TV.        B. They are listening to the radio.

C. They are talking about a western (西部电影).

7. What does the woman really want to see?

A. She wants to see the basketball game.

B. She wants to see the western.

C. She wants to see the football game.

听第7段材料，回答第8至10题。

8. The man and the woman won’t got to the Italian restaurant because _______.

A. The man is too busy.        B. The woman doesn’t like the Italian food.

C. The food there is too expensive.

9. Which restaurant are they probably going to eat at tonight?

A. A Chinese restaurant.       B. A Japanese restaurant.

C. An Indian restaurant.

10. What kind of food is not mentioned in the dialogue?

A. Italian food.       B. Japanese food.      C. Indian food.

听第8段材料，回答第11至13题。

11. Mr Smith was angry because ______.

A. the woman didn’t tell him     B. the woman didn’t phone him

C. Mr Powell didn’t phone him

12. What did the man think he had done before he left?

A. He had written the name and phone number on the card.

B. He had given the card to woman.

C. He had lost the card.

13. Mr Smith apologized _____.

A. because he forgot to give the card to the woman and didn’t speak to her politely

B. because he didn’t say everything clearly

C. for his being late

听第9段材料，回答第14至16题。

14. Why does the man buy a farm?

A. He lost his job in the factory.

B. He is tired of living in the city and factory.

C. He wants to earn much money.

15. Why does the woman sell her farm?

A. Because the ground is unfit to grow wheat.

B. Because she has no modern farm equipment.

C. Because farming is very hard work.

16. Which of the following statements is Not true?

A. The woman has her own farm.

B. The woman sold her farm at a high price.

C. The man has his own factory.

听第10段材料，回答第17至20题。

17. What did the early pioneers think about Kansas?

A. They thought there was gold in western Kansas.

B. They liked the rich soil.

C. They considered the land unproductive.

18. How did the railroads attract settlers?

A. By giving away gold.          B. By offering inexpensive land.

C. By constructing flour mills.

19. Which of the following statements is right?

A. Kansas is large, but the population is small.

B. Kansas is a large state with a large population.

C. Kansas is a small state with a small population.

20. What is the chief occupation(职业) of most Kansas?

A. Farming.        B. Weaving baskets.         C. Running railroads.
第二部分：英语知识运用（共两节，满分45分）
第一节 单项填空（共15小题；每小题1分，共15分）

从A、B、C、D四个选项中，选出可以填入空白外的最佳选项。

21. ——Could you do me a favour and take the box up to the six floor?
      ——______________.
A. With pleasure   B. My pleasure   C. No wonder  D. No comment
22. The funny story       a loud laugh in the classroom.

A. got off   B. set off   C. took off   D. turned out

23. Do you know _______ friends are coming to our party?

A. whose else’s  B. who’s else   C. whose else    D. who else’s

24. To get an education, __________.

A. working hard is very important    B. one must work hard

C. working hard is needed          D. it is needed to work hard

25. Was it at five o’clock ________the fire broke out?

A. when     B. that     C. which      D. in which

26. The professor expressed his satisfaction ______ the student’s answer and ______.

A. with; smiled   B. to; smiling   C. with; laughter   D. to; smile

27. Isn’t it high time you _____ to bed?

A. go    B. to go     C. went     D. going 

28. All her time       experiments, she has no time for films.

A. devoted to do             B. devoted to doing

C. devoting to doing         D. is devoted to doing
29. He is a man of few words and it is hard to          his thought. 

A. see        B. tell       C. read         D. say

30. —Didn't the guard see him breaking into the bank?

—No,  he_______ in the other direction.

A. was looking    B. had looked     C. looked     D, is looking
31. The houses       by the first company will be completed by the end of this year.

A. being built   B. built   C. to be building   D. to build

32.        from the top of the hill, our school is more beautiful.

A. Seeing    B. Seen    C. To be seen    D. To see

33. Today country music can       between 200 and 400 million dollars a year.

A. bring down   B. bring in   C. bring out   D. bring up

34.        we can' t get seems better than       we have.

A. That; that    B. That; what    C.  What; that   D. What; what

35. We won't be able to tell what skills the man has until we try him       .
A. away      B. off      C. on      D. out
第二节  完形填空（共20小题；每小题1.5分，满分30分）


阅读下面短文，掌握其大意，然后从16—35各题所给的四个选项（A、B、C、D）中选出一个最佳选项。

The party began shortly after Mr Wood, who lived in the flat below, signed to himself as he heard excited voices and the noisy music. Luckily he had  36  some work home from the office,   37  he kept himself busy for a couple of hours, thus managing to pay no attention to the noise  38 . But by eleven o’clock he felt  39  and was ready to go to bed, though from his earlier  experience he knew it was  40  trying to get to sleep. He undressed and lay for a while on the bed, trying to read, but he  41  himself reading the same page over and over again. He then turned off the light and  42  his head in the pillow. But  43  he could not shut  44  the noise, finally, after 45 seemed hours, his 46 was gone.

He jumped out of bed, 47 some clothing, marched 48 up the stairs, and walked into his neighbour’s flat. The owner of the flat, who 49 him in his dressing gown, came 50 the room and, 51 Mr Wood could say anything, cried, “My dear fellow, come and 52. I know our parties 53 you. I meant to send you 54.” Mr Wood’s anger disappeared then and there. He said, “I’d better go and get 55.” Minutes later, he returned, properly dressed, only to find that the party was nearly over.

36. A. taken           B. carried             C. brought           D. fetched

37. A. with which       B. from which         C. where            D. when

38. A. outside          B. overhead           C. downstairs        D. nearby

39. A. bad             B. tired               C. sick             D. hopeless

40. A. useless          B. necessary           C. possible          D. helpful

41. A. had             B. found              C. caught           D. felt

42. A. buried           B. rested              C. shook           D. turned

43. A. till then          B. worse still          C. strange enough    D. even so
44. A. away            B. off                C. down            D. up

45. A. it              B. what               C. that             D. which

46. A. sleep           B. strength            C. patience          D. anger

47. A. pulled on        B. dressed up         C. selected          D. wore

48. A. sadly           B. proudly            C. quietly          D. firmly

49. A. made fun of      B. stared at           C. was angry with    D. caught sight of

50. A. across           B. around            C. towards          D. by

51. A. as              B. before             C. though           D. until

52. A. meet as         B. sit here             C. join us           D. scold me

53. A. may trouble      B. would trouble       C. may bother      D. must bother

54. A. a notice         B. a message          C. an invitation       D. an apology

55. A. washed         B. changed            C. dressed           D. prepared

第三部分：阅读理解（共20小题；每小题2分，满分40分）
阅读下面短文，从每题所给的四个选项中，选出一个最佳选项。

A


The total area of land on earth is about 149 million square kilometers, or about 39 percent of the total area of the earth.


The average height of the land is about 750 metres above the sea level .The Eurasian（欧亚的）land mass is the largest with an area of 54,527,600 square kilometers .The smallest continent is the Australian mainland, with an area of about 7,614,600 square kilometers, which together with Tasmania, New Zealand, New Guinea and the Pacific Islands, is described as Oceania .The total area of Oceania is about 8,935,500 square kilometres, including West Iran which is political in Asia .


The world’s largest peninsula（半岛）is Arabia ,with an area of about 3,327,500 square kilometres .


The largest island in the world is Greenland, with an area of about 2,175,600 square kilometres. The largest island surrounded by fresh water is the Ilha de Marajo (4,022 square kilometres) in the mouth of the Amazon River, Brazil .The largest island in a lake is Manitoulin Island (2,766 square kilometres) in the Canadian section of Lake Huron . This island itself has on it a lake of 106 square kilometres called Manitou lake, in which there are several islands.

56．The area of Tasmania, of New Zealand, of New Guinea and of the Pacific Islands add up to 


about           square kilometres .


A．8,935,500
B．1,320,900
C．7,614,600
D．16,550,100

57．Oceania is made up of          .(Suppose I: Australia ;II: Tasmania and New Zealand ; III: 

New Guinea and the Pacific Is –lands )


A．I and II 
B．II and III
C．I and III
D．I,II and III

58．Which of the following diagrams （图解）shows the correct relationship between Manitoulin 

[image: image1.png]



Island(MI), Lake Huron (LH), Manitou Lake (ML) and the “several islands” (SI) mentioned at the end of the passage ?

59．The largest island surrounded by fresh water is in          .


A．a river 
B．a lake 
C．a sea 
D．an ocean
                               B

   Tea drinking was common in China for nearly one thousand years before anyone in Europe had ever heard about tea . People in Britain were much slower in finding out what tea was like , mainly because tea was very expensive . It could not be bought in shops and even those people who could afford to have it sent from Holland did so only because it was a fashionable curiosity . Some of them were not sure how to use it . They thought it was a vegetable and tried cooking the leaves . Then they served them mixed with butter and salt . They soon discovered their mistake but many people used to spread the used tea leaves on bread and give them to their children as sandwiches .

Tea remained scarce and very expensive in England until the ships of the East India Company began to bring it direct from China early in the seventeenth century . During the next few years so much tea came into the country that the price fell and many people could afford to buy it .

At the same time people on the Continent were becoming more and more fond of tea . Until then tea had been drunk without milk in it , but one day a famous French lady named Madame de Sevigne decided to see what tea tasted like when milk was added . She found it so pleasant that she would never again drink it without milk . Because she was such a great lady that her friends thought they must copy everything she did ,they also drank their tea with milk in it . Slowly this habit spread until it reached England and today only very few Britons drink tea without milk .

At first , tea was usually drunk after dinner in the evening . No one ever thought of drinking tea in the afternoon until a duchess （公爵夫人）found that a cup of tea and a piece of cake at three or four o’clock stopped her getting “a sinking feeling” as she called it . She invited her friends to have this new meal with her and so , tea-time was born .
60. This passage mainly discusses               .


A．the history of tea drinking in Britain 


B．how tea became a popular drink in Britain 


C．how the Britons got the habit of drinking tea 


D．how tea-time was born 

61. Tea became a popular drink in Britain              .


A．in the eighteenth century 


B．in the sixteenth century 


C． in the seventeenth century 


D．in the late seventeenth century
62. People in Europe began to drink tea with milk because          .


A．it tasted like milk 



B．it tasted more pleasant 


C．it became a popular drink 


D．Madame de Sevinge was such a lady with great social influence that people tried to copy 

       the way she drank tea 

63. We may infer from the passage that the habit of drinking tea in Britain was mostly due to the 

    influence of           .


A．a famous French lady 
B．the ancient Chinese 


C．the upper(上层的) social class 
D．people in Holland 

C 

   Six chimps(猩猩) were introduced to a slot machine called the Chimp- O- Mat, which would give out one grape when a white coin was insert into the slot. When Dr Wolf showed a young chimp named Moos how he could win himself a grape by inserting a coin, Moos immediately picked up another coin, pushed it into the slot, then stuck out his paw and waited for a grape to drop out..

Besides white coins, the chimps were given yellow coins to insert into the slot, but nothing came out because they were worthless. The chimps soon learned this fact. When a handful of white and yellow coins were thrown into the cage housing, Bula, Bimba and Alpha, the three chimps rushed for the white coins and never touched the yellow ones.

Now the chimps were madly in love with money. Would the six chimps value money enough to work for it? To find the answer, Dr Wolfe designed a work machine. The chimps were shown that when a large handle was lifted, they could pick one grape. When they had learned the skill of lifting the handle to get the grape, Dr Wolf made a change to the machines so that instead of the grape they would find a white coin. This coin would still buy them one grape at the Chimp- O- Mat.

Thus the complexity of getting a grape was not only doubled, but also the money to buy the grape could be achieved only by honest work. The handle they had to lift to get the coin weighed eighty pounds. Great effort is needed for a young chimp to raise that weight, yet the formerly lazy chimps not only quickly mastered the new operation, but also showed great eagerness to work for money.
64. The purpose of the Chimp- O- Mat experiment was to discover whether chimps would learn to________. 

A. enjoy themselves                  B. work together

C. use coins                         D. operate a machine

65. In the first part of the experiment the chimps learned to __________.

A. tell the difference between the useful and the worthless coins 

B. use yellow coins to get grapes

C. wait for the grapes to drop out

D. buy grapes with coins

66. Which of the following shows the correct order of the things a chimp did in the second part of the experiment? 

a.  got a white coin

b. got a grape

c. lifted the heavy handle

d. inserted a coin into the Chimp- O- Mat

A. c a b d       B. c a d b     C. a b d c        D. a d c b

67. The passage showed that _________.

A. Dr Wolfe was disappointed with his experiment

B. The chimps could do everything if taught

C. The chimps were willing to work if something was paid back

D. The chimp’s understanding was as good as a man’s 

                                     D

Career education is instruction intended to help young people identify, choose, and prepare for a career. Such instruction may focus on a person’s role in work, leisure, or family life. Career education differs from vocational education, which is designed to teach specific occupational skills.

Career education includes the formal and informal learning that occurs in the family, in the community, and in schools. In schools, career education consists of instructive activities included in many courses. These activities are designed to improve the attitudes, knowledge, and skills important for work roles. Career education helps students develop self- understanding and use it to plan their education and working life.

A complete career education program in school begins in kindergarten and continues at least through high school. Many colleges and universities also offer career education through their counseling(咨询) programs. In kindergartens and elementary schools, youngsters learn about different types of work. In middle schools or junior high school, children begin to explore the occupations and leisure activities that interest them most. In high school, students get more specific information about occupations and life styles. They may be in classroom, small group, or individual sessions where they learn how to make career decisions. They also should obtain the skills they need for further study or for a job after graduation. Counselors provide information on such matters as how to locate and apply for jobs and how to be successful in interviews. Teachers and counselors use a variety of methods to provide career education, including films about occupations or industries. Children may invite parents or other adults to come to school and describe their jobs. A student may accompany a worker on the job. Cooperative education combines classroom study with practical work experience.

68. According to the passage, which statement is true?

A. Career education is carried out in primary schools only.

B. Career education is carried out in middle schools only.

C. Career education is carried out in colleges only.

D. Career education is carried out in the whole process of people’s education – from kindergarten to university.

69. It may be inferred from the passage that _________. 

A. not only teachers but also parents are responsible for youngsters’ career education

B. in high schools, students know more specific information about occupations

C. career education may be in classroom, small group, or individual sessions

D. teachers use a variety of methods to provide career education, including films

70. A child may get career education in all the following places EXCEPT _________.

A. schools         B. homes        C. communities     D. public places

71. The underlined word “combine” in the last paragraph means “to ________”.

A. connect     B. force     C. provide      D. attempt     

                                E

One hundred and thirteen million Americans have at least one bank-issued credit card. They give their owners automatic credit in stores, restaurants, and hotels, at home, across the country, and even abroad, and they make many banking services available as well. More and more of these credit cards can be read automatically, making it possible to withdraw or deposit money in scattered locations, whether or not the local branch bank is open. For many of us the “cashless society” is not on the horizon----it’s already here.

While computers offer these conveniences to consumers, they have many advantages for sellers too. Electronic cash registers can do much more than simply ring up sales. They can keep a wide range of records, including who sold what, when, and to whom. This information allows businessmen to keep track of their list of goods by showing which items are being sold and how fast they are moving. Decisions to reorder or return goods to suppliers can then be made. At the same time these computers record which hours are busiest and which employees are the most efficient, allowing personnel and staffing assignments to be made accordingly. And they also identify preferred customer for promotional campaigns. Computers are relied on by manufacturers for similar reasons. Computer analyzed marketing reports can help to decide which products to emphasize now, which to develop for the future and which to drop. Computers keep track of goods in stock, of raw materials on hand, and even of the production process itself.

Numerous other commercial enterprises, from theaters to magazine publishers, from gas and electric utilities to milk processors, bring better and more efficient services to consumers through the use of computers.

72. According to the passage, the credit card enables its owner to            .


A．withdraw as much money from the bank as he wishes


B．obtain more convenient services than other people do


C．enjoy greater trust from the storekeeper


D．cash money where he wishes to

73. From the last sentence of the first paragraph we learn that             .


A．in the future all the Americans will use credit cards


B．credit cards are mainly used in the United States today


C．nowadays many Americans do not pay in cash


D．it is now more convenient to use credit cards than before

74. The phrase “ring up sales” most probably means            .


A．make an order of goods


B．record sales on a cash register


C．call the sales manager


D．keep track of the goods in stock

75. It can be inferred that            .


A．computers will bring disaster


B．computer industry will not develop faster


C．computers will bring about more convenience to people’s life


D．None

第二卷（共35分）
第四部分：写（共三节，满分35分）
第1节 单词拼写（共10小题，每小题1分，满分10分）
76. People enjoy reading __________________________(幽默的) advertisements.

77. The value of the painting was _____________________(估计) at several thousand pounds.

78. One of the main _____________________(弱点) of the system is that it uses too much fuel.

79. The hardened ___________________(职业的) smuggler is never troubled by such feelings.

80. They are ______________________(庆祝) her birthday with a party.

81. Chinese are making great efforts to increase _____________________(农业的) production.

82. China has also been very active in protecting the ________________________(环境).

83. Later on, I _______________________ (后悔) my decision not to take the job.

84. Can you give a simple ___________________________(描述) of the matter?

85. She watched _________________________(好奇地) as I opened the box.
第二节  短文改错（共10小题；每小题1分，满分10分）

此题要求改正所给短文的错误，对标有题号的每一行做出判断：如无错误，在该行右边横线上画一个（√）；如有错误（每行只有一个错误），则按下列情况改正：该行多一个词：把多余的词用斜线（\）划掉，在该行的右边横线上写出该词，并也用线划掉。

该行缺一个词：在缺字处加一个漏字符号（/\），在该行右边横线上写出该加的词。

该行错一个词：在错的词下划一横线，在该行的右边横线上写出改正后的词。原行无错的不要改，打对号。

Dear classmates,

Now I’d like to tell you why I learn English. I often      86______________

read English aloud and try learn something important by      87. _______________

hearts, which helps me remember it easily and form          88. _______________

the good habit of thinking in English. I listen to a lot and      89. _______________

talk with others in English. In this way, I was improved       90. _______________

my spoken English. I keep a diary in English every day but    91. _______________

my writing English is becoming better and better. I also try    92. _______________

my best to master the necessary grammar. With this means,    93. _______________

I can express myself in English correct. That’s the way I      94. _______________

have been learning English. I hope it will be useful to you.    95. _______________

That’s all. Thank you.
第三节：书面表达（15%）

根据下面内容用英语写个小故事。

李雯是个是个十六岁的女中学生。暑假的一天，她正独自在家复习功课，突然听到有人敲门，在防盗门里，她看到一个男青年。他自称是煤气公司来检查煤气设备的。李雯叫他拿出工作证。他却不能拿出。她叫他走开，那人大怒，用刀子威胁她开门。李雯不再说什么，转身走向电话机，说要报警。一听此话，那人慌忙跑掉了。

防盗门：safety door       煤气公司: gas company      威胁: threaten; frighten

短文的开头和结尾已给出。

   Li Wen is a sixteen-year-old middle school student. _________________________________

_____________________________________________________________________________

_____________________________________________________________________________
_____________________________________________________________________________
_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

_____________________________________________________________________________

Le Wen said nothing more but turned to the telephone, saying that she would call the police. Hearing this, the man ran away in a hurry.

Keys to the test.

1-5 CCABC    6-10 ABBAC   11-15BBABC   16-20 BCBAA

21-25 ABDBB  26-30 ACBCA   31-35 ABBDD

36-40 CABBA   41-45 BADBB  46-50 CADDA   51-55 BCBCB

56-60 BDDAA  61-65 CDCCA   66-70BCDAD   71-75ABCBC

76. humorous    77. estimated    78. disadvantages   79. professional    80. celebrating 

81. agricultural   82. environment  83. regretted       84. description    85. curiously 

86. why →how   87. try∧ to learn      88. hearts →heart   89.to   90. was →have

91.but→ so      92. writing → written  93. With→  By  94. correct → correctly  95.√
Li Wen is a middle school student. She is sixteen.

One day in the summer vacation, she was staying at home alone, reviewing her lessons when she heard a knock at the door. She saw through the safety door a young man standing outside. The man said he was from the gas company and had come to check the gas. Li Wen asked him to show his I.D. card, but he couldn’t. She ordered him to leave immediately.  The man got angry and frightened her with a knife, insisting on her opening the door. Li Wen said nothing more but turned to the telephone, saying that she would call the police. Hearing this, the man ran away in a hurry.
听力部分录音稿

第一节

Text 1 

M: Where shall we have dinner tonight? Shall we try something new?

W: I can’t eat anything. I feel terrible. I’ve got a bad headache. 

Text 2

M: You work harder than Jane does.

W: But Ann works even harder.
Text 3

W: When does the film start, Bill? 

M: At 7:05p.m. , and it lasts two hours.
Text 4
M: Two return tickets to London please. What time will the next train leave?

W: At nineteen minutes past eight.

M: Which platform?

W: Platform Two over the bridge.
Text 5

W: What would you like, coffee or tea?

M: Coffee, please, but without sugar and milk..
第二节

Text 6

W: Is there anything worth watching on another channel?.

M: I think there is a western on.

W: Do you mind if I watch it?  I’d really like to see it.

M: Well, I really want to see the basketball game.

Text 7

W: Which restaurant should we eat at tonight?

M: How about the Italian restaurant around the corner?

W: No, I don’t like Italian food so much.

M: How about Tokyo House? It’s a good Japanese restaurant.

W: I don’t want to eat Japanese food tonight.

M: How about Chinese food?

W: Yes, that sounds good.

M: Let’s go to the House of Tang.

Text 8

M: Did anybody phone me while I was out?
W: Nobody phoned, but er..., Mr Powell came.

M: What? But he’s the man I want to talk with as soon as possible. I told you all about that before I left.

W: Yes, but...

M: I even gave you a card with the name and phone number of the restaurant!.

W: But that’s just it! You didn’t give me the card.

M: What do you mean? Of course I did. I took the card out of my wallet just before I left. Look! It isn’t in my wallet now!

W: Mr Smith, what’s the card on the floor? It fell out of your wallet a second ago.

M: That card? It’s ...er...it’s the card I thought I gave you.

W: You see! You forgot! That’s why I didn’t phone.

M: I’m very sorry. It wasn’t your fault. I apologize.

W: That’s all right. Please forget about it.

Text 9

M: I want to buy a farm. I think I’d like to grow wheat. Is the ground here good for that?

W: No, I don’t think it’s good for farming.

M: Why do you know so well?

W: I own a farm here, but farming is very hard work.

M: But modern farming equipment can make farming easier.

W: Yes, but you should cut down trees, clear a lot of land and make the soil rich.

M: I don’t mind hard work. I just want to get away from my factory.

W: You can have my farm at a low price, $200, if you want it.

M: All right. You’re giving me your farm, aren’t you?

Text 10

The State of Kansas is called “Bread Basket of America” because it is famous for its wheat growing and flour. And there are hundreds of large cattle farms in West Kansas. The state is larger than most states, but its population is small.

     In the early days, many people looked upon Kansas as a “useless waste of land” and refuse to settle there. However, when Kansas joined the Union in 1861, the population began to increase. Finally the roads helped to attract settlers by selling them cheap land.
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